6. 1.

F(x)=

b)

0.10
0.25
0.35
0.60

Chapter VI

Parameters of a Random Variable

Solutions

—0<x<-3
-3<x<0

0<x<l1
1<x<2
2<x<3

3< x <400

P(x >0)=P(x =1)+P(x =2)+P(Xx =3)

=0.10+0.25+0.40=0.75

E(X)=-30.1+00.15+10.1+20.25+30.4=1.5

D*(X)=(-3) 0.1+0°[0.15+1* [0.1+2> [0.25+3’ 0.4 - (1.5)" =3.35.

6. 2.
Let

X :,,Number of elements that will fall out*.

E(X) :%Pi Lk, =0[@—P1)[@‘Pz)[@‘m)

+1[ﬂp1 [ql_pz)[ql_l%)"'pz [(1‘1?1)[@1‘1?3)+P3 [ﬂl_pl)[ﬂl_pZ)]
+2[ﬁp1 b, [ql_p3)+p1 Lp, [ql_pz)'*'pz Lp, [ﬂl‘Pl)] +30p, Lp, L,

=p,tp,tp;.



6. 3.

a)
ff(x)dx=jaac2 [f1-x)dx =1,
a[Exi—x—T =1, a[ﬁl—lj: , a=12
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D*(X) =[x’ [f (x)dx~(E(X)) -12;£(x x° Jdx 12[%5 61} b
9)
1 1
P(X<lj:F(lj=12 8_161-03125
2 2 3
56
P(x <E(X)) (X<3J=F(§j=l2 ST 3 |=04752
6. 5.

1.
E(X)=400.01+500.08+60.29 +7[0.42+8[0.14 +90.06 = 6.78 periods.

2.
D*(X)=4[0.01+5" [0.08 +6” [0.29 +7° [0.42 +8> [0.14 +9* [0.06 — (6.78)* = 1.0316.

3.
D(X)=+1.0316 =1.02 periods.
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